HERERX

I i B oA R - Tk B ERETHE  BERE| W=

BERET EHIT EHI m3 123.0 120
EELT FR1E m3 33.8 30
#HRL m3 17.9 20
HTMET Hr &N m3 172.1 170
BKHEEYMT |[AET LU EE 450 x 465 m 79.0 79
LEYHER 300 x 500 m 35.7 36
THERTEIE 300 x 300 m 3.8 4
1R 300 %500 m 4.9 5
% 2=2BOX MI1%200 m 33.6 34
s VU ¢ 200 % 1.0 1
Hokit - < R—)LI| LURMEERA# T 3.0 3

£ 7k #t 480 % 300 x 510 & 2.0 2| wkm 1), @

Sk 480 x 300 % 630 T 1.0 1] %k8t (3)

£ K 480 x 300 x 530 Bl 2.0 2| wxi @, G

ok 480 x 300 x 730 Gz 1.0 1| sk (6)

ok 480 x 300 x 796 Gz 1.0 1| sk ()

ok 480 % 300 x 1331 Gz 1.0 1| sk (8)

ok 480 % 300 x 1327 &1z 1.0 1| sk (9)
BEAT SA4+—TL— MEHILE m 1.6 12
SAF—FL—MERL (F4£1) m3 3.3 3
SAF—TL— MERL (D) = 1.0 1
SA+—TL— A m 12.0 12
SA+—TL—hiEH ® 1.0 1
Y UR—IVERE 13 1.0 1
T UR—ILE E: 1.0 1
1l 8% & % FA B RS F m2 40.0 40




SET BRI T TRERE BAEYLARERC-40 t=19cm | m2 286. 2 286
LRERE BAMMARERI-A0 t=15cn | m2 286.2 286

BRAR Y1ARARC-40 t=35cm m2 15.8 16

FRAI7ILMBET |RE BABHEA (13) t=5em m2 286.2 286

RE BEKIEEAs (13) t=5em m2 19.7 20

BEL HEER T SR E N m 4.1 4
RE#H LT RE#RT =48 W=15cm & S ki m 4.0 4
XF - KED W=15cmitE B|TF~<—2 m 4.6 5

WA W=30cm B Ky b m 1.4 1.4

BEMBET  |BET SRR t=5cm m 27.2 27
L REKERL 5 = 1.0 1

SRR t=5cm m2 297.0 300

wiEmeYhL HH m3 2.7 3

AsHRERRALSY t=5cm m3 14.9 15

ConkE kA 53 A m3 2.1 3

REFEERE |XEFEERE REFEEREB A 90 90
HBEREE (D) | ERE R B E SA4+—FL—+ t 2.68 2.68
BifiEBE TERBRE PN AN E=» 1.0 1




-

=il ¥ B H I
BEET
YEHI T
JEAI 123.04
ER+T
PRI 33.80
BRL 17.89
PELAET
b2 Tk Ul 172.12




T I :E
& i 'Z R H B
BRWE
BEET
BT
EHIFTEE
1B H| V 123.04 123.04 m
EELT
RIEETEE
RYE v 33.80 33.80 m
HRLESE
BRL V 17.89 17.89 m
R AR T
Etll 74 F—EHI (CS) RIE
e+ AL 5> v 123.04 + 3885 +  33.80
F4F—BREL #BRL
- (1789 + 3.32) / 0.90 172.12 m




e Hl 5 R
A E H O B oW | & 19 1 W | hva K

No. + 6.720 2.41
IP1 3.81 241 9.18

No. + 10.527 2.41
9.47 2.07 19.60

No. 1.72
20.00 1.69 33.80

No. 1.65
P2 8.80 1.79 15.75

No. + 8.795 1.93
11.20 1.87 20.94

No. 1.80
IP3 0.05 1.80 0.09

No. +0.048 1.80
P4 3.73 1.80 6.71

No. + 3.782 1.80
EP 10.54 1.61 16.97

No. + 14.318 1.41
67.60 & F 123.04




K # 5 =B
A H 5 H O B o m &’ 19 1 W | kv K

No. +6.720 0.13
IP1 3.81 0.13 0.50

No. +10.527 0.13
9.47 0.20 1.89

No. 0.26
20.00 0.26 5.20

No. 0.26
P2 8.80 0.87 7.66

No. + 8.795 1.47
11.20 1.09 12.21

No. 0.70
IP3 0.05 0.70 0.04

No. + 0.048 0.70
P4 3.73 0.70 2.61

No. + 3.782 0.69
EP 10.54 0.35 3.69

No. + 14.318 0.00
67.60 & F 33.80




R L B H ®
A H 5 H O B o m &’ 19 1 W | kv K
No. +6.720 0.05
IP1 3.81 0.05 0.19
No. +10.527 0.05
9.47 0.08 0.76
No. 0.10
20.00 0.10 2.00
No. 0.10
P2 8.80 0.57 5.02
No. + 8.795 1.04
11.20 0.66 7.39
No. 0.28
IP3 0.05 0.28 0.01
No. + 0.048 0.28
P4 3.73 0.28 1.04
No. + 3.782 0.28
EP 10.54 0.14 1.48
No. + 14.318 0.00
67.60 & F 17.89




K B & W I & & =
il w8 - iv2
HeokEEY T
AET
LUZLE)E 79.00 [m
LAAETER 35.70 m
TEHTEE 300 x 300 3.80 m
TEHTEE 300 x 500 4.90 m
EEBOX HZ200 33.60 m
EfTEER VU ¢ 200 4.70 m
ST
LUZY @& AR 3.00 |E&FT
LV 480 x300x510 2.00 &L
L8 480 x300x630 1.00 &N
L8 480 x300x530 2.00 &N
L8 480 x300x730 1.00 &N
L8 480 %300 %796 1.00 &N
KBt 480x300x1331 1.00 &zl
KBt 480300 %1327 1.00 &zl




el w8 oI

REHT
SA4F—7L—MESILE 11.61  |m
FA4F—7L—MERL (F&£EL) 332 |m3
SAF—7L—MERL (B 1.00 |5
SAF—TL— b EE 12.00 |m
SAF—7L—+BR .00 |=
TVR—ILERE 1.00 |&EF7
< v R— LR 1.00 [=

R E% B B FR RO A) 40.00 m2




B K B8 &8 W I FHA E
& pill i E R wn =
BEKEEMT
fiET
FERLY
LUZLIiE L= 350 + 17.80 + 17.80 + 11.50 + 14.40
+ 14.00 79.00 m
FERLY
LEHER L= 1550 + 48 + 11.00 + 4.40 35.70 m
FERLY
tEBTAIE 300 x 300 L= 3.80 3.80 m
FEREY
T uRAIE 300 x 500 L= 4.90 4.90 m
FEREY
FEBOX 200 L= 270 + 1550 + 11.00 + 4.40 33.60 m
FEREY
BEZE VUD200 L= 310 + 1.60 4.70 m
ST
FEREY
LUZY {813 FA #e N= 100 + 1.00 + 1.00 3.00 &r
ok#t (1) £k 2
EKk#t (480 x 300 % 510) N= 1.00 + 1.00 2. 00 &Fr
ok#t(3)
ok #t (480 x 300 x 630) N= 1.00 1.00 &rr
Eok#t4) £k 5)
Ek#t (480 x 300 x 530) L= 1.00 + 1.00 2. 00 &Fr
Sk#t (6)
ok #t (480 x 300 x 730) L= 1.00 1.00 &rr
Eok#t(7)
£KkHt (480 x 300 x 796) L= 1.00 1. 00 &Fr
ok#t 8)
&kt (480 x 300 x 1331) L= 1.00 1.00 &R
ok#t 9)
kit (480 x 300 x 1327) L= 1.00 1.00 &R




E 5l g # 2
REHT
HEELY

SA4+—7L—MEHIEE| H= 11.61 11.61 m
S4F—FL—MERL (F%£1D) v= 3.32 3.32 m3
SAF—FL—MERL (&) V= 2260 22.60 m3

BEKY— b A= 67.01 67.01 m2

SA4F—TL—r EIE| H= 12.00 12.00 m

SA4F—TL—rEH| N= 1.00 1.00 =

Y UR—ILERE N= 1.00 1.00 &

T UR—ILAH N= 1.00 1.00 =

1 38 B FA B R F A= 40.00 40.00 m2




LUBMAE LU . LUBAEE LUE ()

(10m& V)

LUBA I8 (12D LUBM AR E (1R %)
Lu(m LUZE (1)
B E R il & =
450 450 600
p0_ 300 5050 100 300 50 3 594
/I~ B

380
465

|

@
g Jifet (o-20] [ %E 7 600
3 594
50 b -
500 =
B Al &t L =
LUBAIE LU(T)
BmKk L=1.990m
N= 10/1.990 = 5.03 5.0 1@
Eittt
RC-40 t=100 |V= 0.50x0.10x10 0.50 m3
LURMEIES LUZE (1)
3T L =0.600 m
N= 10/0.600 = 16.67 16. 7 &




FERREIE (U L—F > 941 (300 x 300) (10m24 1)
HEREIL—F )
(300 x 300)
240 P E
70 50 300 120 8. 1-75)
FMHEET 2R
AA-b P
[ I 3
290 2| 2
o %
3 B H(RC 10 avg—t
T (I”%E I/U (18-8-25)
640
i Al Hi g =X
ETRE
(JL—F204) | &K L =2000m
TEETAE N= 10/2.00 5.0 &
arvyoy—+»r
18-8-25 V= 0.64x0.10x10 0.64 m3
B V= 0.10x2x10 2.00 m?2
HERA
RC-40 t=10cm V= 0.64x0.10x10 0.64 m3
JgL—Fo5 &
@ WEEL 9y | BEER L =0.995 m
N= 10/0.995 = 10.05 10.0 &




1% (U L—F >4 (300 % 500)

(10m& V)

aMeEoL—Fo7)

(300 x 500)
540 S
e ] Y ‘Eg{’é’. T-2)
i IEER AL
{4 =}
200
\_
8
gEL:-::-,:-u:-::-::-.:-::-::-
g e (Ro-40) ﬁ EPVIETS
. ——-m (18-8-25)
7590
'l it G =
T RE

(TL—F27)

Bmk L=2.000m

TERTEE N= 10/2.00 5.0 &
avoy—k
18-8-25 V= 0.59x0.10%x10 0.59 m3
B V= 0.10x2x10 2.00 m2
HERA
RC-40 t=10cm V= 0.59x0.10x10 0.59 m3
JL—Foy &
K WEEL vy | ERE L =0.995 m
N= 10/0.995 = 10.05 10.0 &




| B 535 (10m24 )
LEHER
450
100I 250 ‘100
BELSL e =
(-9 f B R0 g
avy)—+k
450 L (18-8-25)
500
i) Al &t =1 =
LB R glgE L=0.600m
N= 10/0. 600 = 16.67 16. 7 &
BEILZIL
(1:3) V= 0.45x0.01x%x10 0.05 m3
avoy—k
18-8-25 V= 0.50x0.10x10 0.50 m3
B V= 0.10x2x10 2.00 m2
HERA
RC-40 t=10cm A= 0.50x10 5.00 m2




5 2EBOX (1£200) (10m% 1)

EEBOX(N%200)

F & H

2000

262

p
200

4
308

4 4
M 120

¥r m
308
T ég
5\ HLavoy—=+
8 (18-8-25)
w08 ERBE (RC-40)
50 50
iz Al Hi =1 =
5 2EBOX
(M7%200) MERE L=200m
N= 10/2.00 = 500 5.0 &
HLavyy—+F
18-8-25 V= 0.408x0.10x10 0.41 m3
pily e A= 0.10x2x10 2.00 m?2

ERRa

RC-40 t=15cm |A= 0.408x10 4.08 m2




LUZ {813 A (&RLY)

LUBS IR A
LU#
B Em X FEHA
450 500
100 300 50 594 3

‘ ‘ 5 408 9

25

120

S

2 N | NYL=FiE
\l | 399> 22019
r1ls0

60

150

495
.
‘
265
615

T
P -
'-/ (]
\ [y )
-

S  [(EEeell]
500 ! 100 !
TL—Fu5E F @
399 500
319420 366 2094)3
\:l:i:z 77777777 ,8
E Al H " =
LUZ {8135 FA 4
LU HEE L =0600m
N= 1.0 1.0 @&
EEM
RC-40 t=100 |A= 0.50x%0.70 0.35 m2
LU 545 HEE L =0.600m
N= 1.0 1.0 &

VA Vi1

(399x220x19) [N= 1.0 1.0 &




(1), (2) S Kk#t (480 x300x510) (1EZY)
£k (1) k8t (2) B @
(480 x 300 x 510) (480 x 300 510)
E & EE E
s 600 5 i i 600 = 450
BO_ 480 60 ) ) e 480 60 100, 300 ol
| JL—F2 58 JL—F58
‘ a8 JH’ 392x350x 19 392x3/0x19 N 308 _
A —H T 1 =
§ *2‘ 4 ot L ‘g
8 [Flsmmws | 8 B EOe
EPZA b E A e 5 Ve
L 600 ‘ 600
L 700 J 700
G | E g =
HRZH
LU=#1% (300/) IN= 1.0 1.0 {&
avyl)—+
18-8-25 V= 0.51 x 0.60 x 0.45 = 0.14
(0.51 - 0.10) x 0.48 x 0.30 = 0.06
0.14 - 0.06 0.08 m3
pinp e A= 0.51 x 0.45 x 2 = 0.46
0.51 x 0.60 x 2 0.61
(0.51 - 0.10) x 0.30 x 2 = 025
(0.51 - 0.10) x 0.48 x 2 = 0.39
0.46 + 0.61 + 0.25 + 0.39 1.711 m2
B9
RC-40 t=10cm A= 0.70x0.50 3.50 m2
JL—Foo=
(392 x 350 x 19) N= 1.0 1.0 8




(3) E=sK#t (480 % 300 x 630) (1%L Y)
£K#(3)
(480 x 300 % 630) -
X
I m B =
600 450
80 480 60 R, T T
302 % 350% 19 ‘ ‘
2 8
i = - = [ ]
o o \., |
uDD = n =
o ‘I
2 gl o UL 2
© ("’ - B
RS - o B
| re) (B
3 \ I
avo2Yy—+
(18-8-25)
600
700
iz Al 5 =1 =
HEZHR
LUZ=#&H8 (300A) IN= 1.0 1.0 {@&
avyoy—4k
18-8-25 V= 0.63 x 0.60 x 0.45 = 0.17
(0.63 - 0.10)0 x 0.48 x 0.30 = 0.08
0.17 - 0.08 0.09 m3
gy oA A= 0.63 x 0.45 x 2 = 0.57
0.63 x 0.60 x 2 0.76
(0.63 - 0.10) x 0.30 x 2 = 0.32
(0.63 - 0.10) x 0.48 x 2 = 0.51
0.57 + 0.76 + 0.32 + 0.51 2.16 m2
HBRR
RC-40 t=10cm A= 0.70x0.50 0.35 m2
JL—F o5&
(392x350x19) [N= 1.0 1.0 #8




(4), (5) Esk#t (480 x 300 x 530) (1%L Y)

B @
£k @) S k#t (5) 450
(480 x 300 x 530) (480 x 300 x 530) 100 200 50
E ® E & ' ‘
@77 300 i g @77' 300 | ] g
[ T e E
st | i g | - 7]
HNE L. IEEEEENE T 8 &
! 700 ‘ ‘ 700 ‘
i Al H g =
#EGR
LU=#1% (300/) IN= 1.0 1.0 {@&
avy)—+
18-8-25 V= 0.53 x 0.60 x 0.45 = 0.14
(0.53 - 0.10) x 0.48 x 0.30 = 0.06
0.14 - 0.06 0.08 m3
B A= 0.53 x 0.45 x 2 = 048
0.53 x 0.60 x 2 = 0.64
(0.53 - 0.10) x 0.30 x 2 = 0.26
(0.53 - 0.10) x 0.48 x 2 = 0.4
0.48 + 0.64 + 0.26 + 0.41 1.79 m2
-2
RC-40 t=10cm A= 0.70x0.50 0.35 m2
JL—FooE
(392 x 350 % 19) N= 1.0 1.0 #8




(6) Z k¥ (480 x 300 x 730) (1ELY)

K ¥4 (6)
(480 x 300 x 730)
T &=
B | X
500 450
- 450 60 100 300 50
392 % 35019

‘ SL—Fy ‘ ‘

140
120

776

54

850

730
308
200

b4

100

£8# RC-40) (18-6-25
Bl H " 2
HEBS
LUZ#& 3R (300M) |[N= 1.0 1.0 {&
arvyiy—+t
18-8-25 V= 0.73 x 0.60 x 0.45 = 0.20
(0.73 - 0.10)0 x 0.48 x 0.30 = 0.09
0.20 - 0.09 0.11 m3
B A= 0.73 x 0.45 x 2 = 0.66
0.73 x 0.60 x 2 = 0.88
(0.73 - 0.100 x 0.30 x 2 = 10.38
(0.73 - 0.10) x 0.48 x 2 = 0.60
0.66 + 0.88 + 0.38 + 0.60 2.52 m2
EHERA
RC-40 t=10cm |A= 0.70x0.50 0.35 m2
JL—Foi&
(392x350x19) [N= 1.0 1.0 #8




(7) Sk #t (480 x 300 x 796) (1%L Y)
£k (7)
(480 x 300 x 796)
E @& sy T
450
600 100, 300 50
60 480 0 R ‘ ‘
392x350% 19
N ’ 160-) | ]
8 oo e 500 ‘
=l el
4 (RC-40) (18-8-25)
B Al 5 " R
HRGH
LUZ=#& 8 (300/) IN= 1.0 1.0 &
avoyl)—+
18-8-25 V= 10.796 x 0.60 0.45 0. 21
(0.796 - 0.10) 0.48 x 0.30 0.10
0.21 - 0.10 0.11 m3
By A= 0.796 x 0.45 2 0.72
0.796 x 0.60 2 0.96
(0.796 - 0.10) 0.30 x 2 0.42
(0.796 - 0.10) 0.48 x 2 0.67
0.72 + 0.96 0.42 + 0.67 2.77 m2
ERwBR
RC-40 t=10cm A= 0.70x0.50 0.35 m2
JL—F o9&
(392 x 350 % 19) N= 1.0 1.0 #H




(8) Hsk#t (480 %300 % 1331)

(1&FEHY)

Eoxi(a)
(480300 1331)
E @
B m@
600
T ST e 100 0 50
& S[ g ‘ ‘
s B 2 o] B
2ot
i (Re-10) 7 (18-8-25)
i S &t g =X
R
LUZ#& 58 (300A) [N= 1.0 1.0 &
avyl—+
18-8-25 V= 1.331 x 0.60 x 0.45 = 0.36
(1.331 - 0.10) x 0.48 x 0.30 = 0.18
0.36 - 0.18 0.18 m3
By A= 1.331 x 0.45 x 2 = 1.20
1.331 x 0.60 x 2 1. 60
(1.331 - 0.10) x 0.30 x 2 = 074
(1.331 - 0.10) x 0.48 x 2 = 1.18
1.20 + 1.60 + 0.74 + 1.18 4.72 m2
ERRA
RC-40 t=10cm |A= 0.70x0.50 0.35 m2
JL—F o0&
(392x350x19) [N= 1.0 1.0 48




(9) £ sk#t (480 x 300 % 1327) (1ELY)

ki (9)
(480 x 300 % 1327)
E @
B |
600
50 180 50 450
GL—FIE 100, 300 A0

302x 35019 ‘ ‘

140
120

265 ___1

120

546

1327
4 200 o4
308

1327

.

g [20 2 6 00 E
TE=a
St (Re-40)
U B -1 2
R
LU (300/A) N= 1.0 1.0 {&
aryoy—+
18-8-25 V= 1.327 x 0.60 x 0.45 = 0.36
(1.327 - 0.10) x 0.48 x 0.30 = 0.18
0.36 - 0.18 0.18 m3
By A= 1.327 x 0.45 x 2 = 1.19
1.327 x 0.60 x 2 = 1.59
(1.327 - 0.10) x 0.30 x 2 = 074
(1.327 - 0.10)0 x 0.48 x 2 = 1.18
1.199 + 1.5 + 0.74 + 1.18 4.70 m2
ERRA
RC-40 t=10cm |A= 0.70x0.50 0.35 m2
JL—F o0&
(392x350x19) [N= 1.0 1.0 48




SA4F+—TL— bk (D2000 t2. Tom) D (EmLY)
$ 2000
B X
s BERET
HEL
34+=7 V=t t=2.7mm
. BEKS—h
#H
®
Dﬂ p— — |
ne
| 2
DR BHERE(GS)
t%
N
5 M TR X 5
5mETOHEA] : NV UKD
S5mULOIEHE : V5L L
E
S 75U UEME  t=64mm
1000 1000
2000
& Al H g =R
F¥ELT
Al S L TIL) h= 12.00 - 0.39 11.61m
V= {m/4 x (2.00 + 0.064) = 2} x 11.61 38.85 m3
BERL V= n/4 x 2.00 " 2 x 1.415
- (n/4 x 0.8 " 2
+ /4 X 1.05 © 2) / 2 X 0.6
- /4 X 1.05 &= 2 x 0.815

3.32 m3




S4F+—7L— k(2000 t2. Tmm) @ (EmLY)
$ 2000
B
Vvi4.19 "6?—0-‘ -
S FAEE i w0
72,98 I mEmet
ERL
] 34+=7 V=t t=2.7mm
R ] FEh—b
In, ]
- ]
zlﬂpﬂé :I::I:
o .
Al x
n = BHEREGWS)
L&
F 9
g
1000 1000
2000
i Al H g =®
{REEHHEHR T
SA+—FL—Fr W= 223.3 x 12.0 / 1000 2.68 t
R E%E R B R R
(RC-40 t=10cm) A= 40 x 10.0 40.00 m




BEEHEHEID (RS Y)

H=74.190
i 600 E 60008kl
s [ A
g ,Mjf 1 E38 600
H=72.98 0 FRYY (h=150)
#1 B (h=600)
8 ] R (h=1200)
; BBER (h=1200)
o 1 T mmm e
7 T EBsrusES G0
g 8 I BMREEE (=1200)
] i . Fl 2B EEE (h=1200)
i; ; B RBEEE (h=1200)
; EHEYIHEEE (h=600)
I:; BRI BBEE (h=1200)
BEHBBEE (h=1200)
] BEMEM (h=150
i Al Hi =1 =%
BEHRE T (¢ 900) 11.705+0. 165 = 11.87 m
FRAEEATEIFL (¢ 200) 1.00 = 1.0 &FR
KBIERERR
(h=150) 1.0 = 118
BRI EEEE
(h=1200) 1.0 + 1.0 = 2 &
FEeb LV iGEER:
(h=600) 1.0 + 1.0 = 2 &
Rl 2B EE
(h=1200) 1.0 + 1.0 + 1.0 = 3@
REEE
(h=1200) 1.0 + 1.0 = 2 @
HR 4 17 BE
(h=1200) 1.0 = 1@
B2
(h=600) 1.0 = 1@
HEEY Y
(h=150) 1.0 = 1@




REHBREIOQ (IR Y)
¢ 2000
B X
S IAES ©
H=72.98 2 ammer
ERL
A
F4F=7 Vb t=2.7mm
. N EK—k
s
=
u v
& A
N & HHEREGS)
1 &
&
N "
-
1000 ‘ 1000
2000
i Al =1 =
FELE (25mm) 118
El
(P 600) 118
BERXETL
BWEREG (A5 2.00 © 2 x 10.165
1.10 &= 2 x 7.365
1.05 &= 2 x 2.700 22.60 m3
BAKER
BEK— (2.00x 7t x10.165)+(mw/4%2.00" 2) 67.01 m2




-

el

wn B

i

T A7 7L MEET (EER)

PREE T

TR t=19cm 286.21

B t=15cm 286.21

EEAZ t=35cm 15.83
TRAT7 7L NEET

FHIFEAs t=bcm 286.21

FARIFZAs t=5cm 19.65




B OE I R O£
& il i oE ® w2
HET
BT SETTEEELY
Py
TRE®E# t=19cm A= 286.21 286.21 m
FEEHE t=15cm TERECFELUEE 28621 m
BRI FEER )
PRA t=35cm A= 15.83 15.83 m
TRA7 7L T
PN
ZhiEAs t=5cm A= 286.21 286.21 m
PN FhE
BHIEZAs t=5cm A= 15383 + 3.82 19.65 m




X B I & & =
W oH E S G R F o ok K e K
BP (%)
No. 0 + 6.720 4.11
[P1 3.81 5.37 20.46
No. 0 +10.527 6.62
9.47 5.51 52.18
No. 1 4.40
20.00 4.40 88.00
No. 2 4.40
P2 8.80 4.40 38.72
No. 2 + 8.795 4.40
11.20 4.36 48.83
No. 3 4.31
IP3 0.05 4.31 0.22
No. 3 + 0.048 4.31
P4 3.73 4.31 16.08
No. 3 + 3.782 4.31
5.31 4.09 21.72
No. 3 + 9.095 3.86
(FAAL)
No. 3 + 9.630 3.77
EP 4.07 3.89 15.83
No. 3 +13.700 4.01
& &
BRI 286.21
66.44 B 15.83




% A I ;A =
7 7 o8 ® ¥ 8
HEHERT
o1 R
FTERKLY
AL L= 4.12 o

412 m




#hoetER 0w 4 (150 x 150 x 600) (10m 1))

B =
B0 mamRIoys
150 150 x 600)
o / 7 avsy—¢
- (18-8-25)
=Ll (Re-40)
8
200
B 3l it =3 =t
BRI Oy Y | 8RE L =0.600m
N= 10/0. 600 16.7 @
a9 )—+
18-8-25 V="0.20%0.10% 10 0.20 m3
R A= 0.10x2x 10 200 m?2
ERRE

RC-40 t=10cm A= 0.20x10 2.00 m2




X B # I 3k
E il i & A w =
RE#HRT
RE#HRT
=42 W=15cm %=
HET - RERIFERKY
SHARE L= 4.00 4.00 m
XF - KE W=15cmi2 & B
HET - RERIFERKY
T=<v—% L= 4.60 4.60 m
g W=45cm B
HET - RESHIFERLY
Ky k L= 1.40 1.40 m




W = I & i =
& Al B B == (v

WET

SRR T (t=15cmLLF) 27.20

R ARUIMT S ACE M T 0.04

SRR T (t=5cm) 297.00

BEme) bl Co B 2.71
77 EMNET

As#% (t=5cm) 14.85

Co#k 2.71




W E I R 2
oAl g = H 2
BET
SHERRYIMT WETITERELY
(t=15cmLLTF) L=3. 3+5. 8+6. 0+3. 8+4. 3+4.0 27.20 m
S A IR YT B A KER T V=27.2x0.13/100.0 0.04 m
SRR T WETITERELY
(t=5cm) A=297.0 297.00 m
#wEmEY IhL
BEITEREY
LEE (350) L=17.00+21.00+7. 20 45.20 m
COEAR| V=0.04x45. 20= 1.81 m
450
100 250 100
= g%q
BEITEREY
LUZ!{8I;& (300 x 300) L=2.00+2. 40 4.40 m
COEM| V=(0.020+0.090) x 4. 40 0.48 m

450
100 300 50

0.02 m2

165

75

380

0.09 m2

465




W = T R =
5

(i Al =X B =2
BEITERE&Y
Se7k#t (400 x 400 x 800) N=1.00+1. 00 = 2.00 &Fr
COEM| V=((0.640x0.640x0.800)- (0. 400 x 0. 400 x 0. 750)) x 2. 00 = 0.42 m
640
120 400 120
WETL—FUIE
—_—
—-
T EE
640
120 400 120 WA L—FI&E
500 x 500 x 60
5
Co B &t 1.81+0. 48+0. 42 = 2.711 m
A ZEMRNIET
As5% (t=bcm) V=297.0x0. 05 = 14.85 m

Conk

A 1. 81+0. 48+0. 42 = 22711 m




